Puzzle 11669 - Monday, 26 October, 2015 - Difficulty 3

9 ‘21 11 22 10 5 6
4 | 8 m@f“i 3 | 7 ijlmﬂgﬁji 2 15
AN O A I .,
S| 712]8)6|9f43]1;
12""””"1} : i é’iiiil 1’;11’:”111111: 3 i Liiilfifiill
3191 5 2 4 |76 |8
3 — i; ;’g’jiii,ffff:f,‘ :Iéi:i‘ﬁ{ﬂ;::l
91415 1)381‘3 6J‘i7”2‘
’8’,:::::::, ’2’2’:’ — ’8’,:::,::::,} ‘

6 | 2189 |5 7]|1(4]3
’8’,::::::;} “1’411’;51’,’,’,’: :Ié"” :1’4"” ffffff,} ‘
71 ”“:31121;4 68|59
3 ,,,,,,,‘ : i i i ; pr— 5::::1 ’5’,:: ,,,,,,,,,,,,,,,
8|5 7]69 23|14
3'""'1 ‘18 ‘ ! ; 11 ‘ ‘12:7 :::"3 } 3777:73”15"7
2 | 3 4 7 | 1 85 9 |6
R L S 7 i
16 |9f43[5[2]8]7

Copyright (c) www.dailykillersudoku.com




